		Company Name	Plano Of	fice Supply	Busines	ss Interiors	Workplace	Solutions	Lone Star F	urnishing, LLC	Contrax G	roup. LLC
Item#	QTY	Description	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
		Hon-10700 Series, Laminate Contemporary										
1	4	Hon-10799 72"Double Pedestal Desk	\$691.97	\$2,767.88	\$753.98	\$3,015.92	NB	NB	\$808.00	\$3,232.00	NB	NB
2	4	Hon-10774 66" Double Pedestal Desk	\$667.08	\$2,668.32	\$726.86	\$2,907.44	NB	NB	\$772.00	\$3,088.00	NB	NB
3	4	Hon-10787R 72" Right Pedestal Desk	\$596.50	\$2,386.00	\$649.96	\$2,599.84	NB	NB	\$698.00	\$2,792.00	NB	NB
4	4	Hon-10701 R 66" Right Pedestal Desk	\$543.05	\$2,172.20	\$591.72	\$2,366.88	NB	NB	\$639.00	\$2,556.00	NB	NB
5	4	Hon-10788L 72" Left Pedestal Desk	\$596.50	\$2,386.00	\$649.96	\$2,599.84	NB	NB	\$698.00	\$2,792.00	NB	NB
6	4	Hon-10702L 66" Left Pedestal Desk	\$543.05	\$2,172.20	\$591.72	\$2,366.88	NB	NB	\$639.00	\$2,556.00	NB	NB
7	4	Hon-10709R 60" Right Return	\$423.91	\$1,695.64	\$461.90	\$1,847.60	NB	NB	\$506.00	\$2,024.00	NB	NB
8	4	Hon-10710L 60" Left Return	\$423.91	\$1,695.64	\$461.90	\$1,847.60	NB	NB	\$506.00	\$2,024.00	NB	NB
9	4	Hon-10711R 48" Right Return	\$366.79	\$1,467.16	\$399.66	\$1,598.64	NB	NB	\$444.00	\$1,776.00	NB	NB
10	4	Hon-10712L 48" Left Return	\$366.79	\$1,467.16	\$399.66	\$1,598.64	NB	NB	\$444.00	\$1,776.00	NB	NB
11	4	Hon-107191R 42" Right Return	\$361.90	\$1,447.60	\$394.33	\$1,577.32	NB	NB	\$441.00	\$1,764.00	NB	NB
12	4	Hon-107192L 42" Left Return	\$361.90	\$1,447.60	\$394.33	\$1,577.32	NB	NB	\$441.00	\$1,764.00	NB	NB
13	4	Hon-10742 72" Credenza W/doors	\$692.38	\$2,769.52	\$754.42	\$3,017.68	NB	NB	\$808.00	\$3,232.00	NB	NB
14	4	Hon-10741 72" Credenza w/Kneespace	\$598.94	\$2,395.76	\$652.62	\$2,610.48	NB	NB	\$699.00	\$2,796.00	NB	NB
15	4	Hon-10768 66" Credenza w/kneespace	\$561.00	\$2,244.00	\$611.27	\$2,445.08	NB	NB	\$659.00	\$2,636.00	NB	NB
16	4	Hon-10707R 72" Credenza Single Pedestal right	\$488.38	\$1,953.52	\$532.14	\$2,128.56	NB	NB	\$584.00	\$2,336.00	NB	NB
17	4	Hon-10705R 66" Crendenza single pedestal right	\$479.40	\$1,917.60	\$522.36	\$2,089.44	NB	NB	\$584.00	\$2,336.00	NB	NB
18	4	Hon-10708L 72" Credenza single pedestal left	\$488.38	\$1,953.52	\$532.14	\$2,128.56	NB	NB	\$584.00	\$2,336.00	NB	NB
19	4	Hon-10706L 66" Credenza single pedestal left	\$479.40	\$1,917.60	\$522.36	\$2,089.44	NB	NB	\$584.00	\$2,336.00	NB	NB
20	4	Hon-10762 2-drawer lateral file	\$379.44	\$1,517.76	\$413.45	\$1,653.80	NB	NB	\$449.00	\$1,796.00	NB	NB
21	4	Hon-107699 4-drawer lateral file	\$807.43	\$3,229.72	\$879.79	\$3,519.16	NB	NB	\$928.00	\$3,712.00	NB	NB
22	4	Hon-10752 2-shelf bookcase	\$202.78	\$811.12	\$220.95	\$883.80	NB	NB	\$263.00	\$1,052.00	NB	NB
23	4	Hon-10753 3-shelf bookcase	\$249.70	\$998.80	\$272.08	\$1,088.32	NB	NB	\$318.00	\$1,272.00	NB	NB
24	4	Hon-10754 4-shelf bookcase	\$281.52	\$1,126.08	\$306.75	\$1,227.00	NB	NB	\$353.00	\$1,412.00	NB	NB
25	4	Hon-10755 5-shelf bookcase	\$336.19	\$1,344.76	\$366.33	\$1,465.32	NB	NB	\$426.00	\$1,704.00	NB	NB
		Total Items 1-25		\$47,953.16		\$52,250.56		\$0.00		\$57,100.00		\$0.00
		HON - 94000 Series, Laminate Traditional										
26	3	Hon-94271 72" Double pedestal desk	\$800.50	\$2,401.50	\$872.24	\$2,616.72	NB	NB	\$954.00	\$2,862.00	NB	NB
27	3	Hon-94276 66" Double pedestal desk	\$778.87	\$2,336.61	\$848.67	\$2,546.01	NB	NB	\$930.00	\$2,790.00	NB	NB
28	3	Hon-94285R 72" Right pedestal desk	\$699.72	\$2,099.16	\$762.42	\$2,287.26	NB	NB	\$819.00	\$2,457.00	NB	NB
29	3	Hon-94283R 66" Right pedestal desk	\$657.70	\$1,973.10	\$716.64	\$2,149.92	NB	NB	\$774.00	\$2,322.00	NB	NB
30	3	Hon-94286L 72" left pedestal desk	\$699.72	\$2,099.16	\$762.42	\$2,287.26	NB	NB	\$819.00	\$2,457.00	NB	NB
31	3	Hon-94284L 66" Left pedestal desk	\$657.70	\$1,973.10	\$716.64	\$2,149.92	NB	NB	\$774.00	\$2,322.00	NB	NB
32	3	Hon-94215R 48" Right Return	\$448.39	\$1,345.17	\$488.58	\$1,465.74	NB	NB	\$543.00	\$1,629.00	NB	NB
33	3	Hon-94216L 48" Left Return	\$448.39	\$1,345.17	\$488.58	\$1,465.74	NB	NB	\$543.00	\$1,629.00	NB	NB
34	3	Hon-94270 48" Bridge	\$263.16	\$789.48	\$286.74	\$860.22	NB	NB	\$313.00	\$939.00	NB	NB
35	3	Hon-94260 42" Bridge	\$239.09	\$717.27	\$260.51	\$781.53	NB	NB	\$330.00	\$990.00	NB	NB
36	3	Hon-94245R 72" Credenza single pedestal right	\$576.50	\$1,729.50	\$628.17	\$1,884.51	NB	NB	\$711.00	\$2,133.00	NB	NB
37	3	Hon-94246L 72" Credenza Single pedestal left	\$576.50	\$1,729.50	\$628.17	\$1,884.51	NB	NB	\$711.00	\$2,133.00	NB	NB

		Company Name	Plano Off	ice Supply	Busines	ss Interiors	Workplace	Solutions	Lone Star F	urnishing, LLC	Contrax G	
Item#	QTY	Description	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
38	3	Hon-94247R 72" Credenza w/36 lateral right	\$655.66	\$1,966.98	\$714.41	\$2,143.23	NB	NB	\$819.00	\$2,457.00	NB	NB
39	3	Hon-94248L 72" Credenza w/36 lateral left	\$655.66	\$1,966.98	\$714.41	\$2,143.23	NB	NB	\$819.00	\$2,457.00	NB	NB
40	3	Hon-94244 72" Credenza w/doors & Shelf	\$771.53	\$2,314.59	\$840.67	\$2,522.01	NB	NB	\$922.00	\$2,766.00	NB	NB
41	3	Hon-94243 72" Credenza w/Kneespace	\$666.67	\$2,000.01	\$726.42	\$2,179.26	NB	NB	\$830.00	\$2,490.00	NB	NB
42	3	Hon-94235 Overhead Hutch for 72" Credenza	\$852.31	\$2,556.93	\$928.70	\$2,786.10	NB	NB	\$999.00	\$2,997.00	NB	NB
43	3	Hon-94234 Stack on storage for 72" Credenza	\$481.03	\$1,443.09	\$524.14	\$1,572.42	NB	NB	\$582.00	\$1,746.00	NB	NB
44	3	Hon-10738 Back enclosure for stack on	\$79.56	\$238.68	\$86.68	\$260.04	NB	NB	\$98.00	\$294.00	NB	NB
45	3	Hon-90034 Tackboard for back enclosure	\$99.96	\$299.88	\$108.91	\$326.73	NB	NB	\$119.00	\$357.00	NB	NB
46	3	Hon-94223 2-drawer lateral file	\$460.63	\$1,381.89	\$501.91	\$1,505.73	NB	NB	\$539.00	\$1,617.00	NB	NB
47	3	Hon-94210 Bookcase Hutch	\$308.04	\$924.12	\$335.64	\$1,006.92	NB	NB	\$391.00	\$1,173.00	NB	NB
48	3	Hon-94221 2-shelf bookcase	\$287.64	\$862.92	\$335.64	\$1,006.92	NB	NB	\$351.00	\$1,053.00	NB	NB
49	3	Hon-94222 3-Shelf bookcase	\$322.32	\$966.96	\$313.41	\$940.23	NB	NB	\$389.00	\$1,167.00	NB	NB
50	3	Hon-94224 4-shelf bookcase	\$365.57	\$1,096.71	\$351.21	\$1,053.63	NB	NB	\$451.00	\$1,353.00	NB	NB
51	3	Hon-94225 5-shelf bookcase	\$401.06	\$1,203.18	\$398.33	\$1,194.99	NB	NB	\$492.00			NB
52	3	Hon-HTLC 4812T.N.N.N Rectangular Laminate top	\$891.48	\$2,674.44	\$437.01	\$1,311.03	NB	NB	\$1,053.00	\$3,159.00	NB	NB
53	3	Hon-HTLC 4896T.N.N.N Rectangular Laminate top	\$687.48	\$2,062.44	\$971.37	\$2,914.11		NB	\$831.00	\$2,493.00		NB
54	3	Hon-HTLC 3672.N.N.N Rectangular Laminate top	\$357.41	\$1,072.23	\$749.09	\$2,247.27		NB	\$444.00			NB
55	3	Hon-HTLC 48T.N.N.N Round Laminate top	\$325.58	\$976.74	\$202.07	\$606.21		NB	\$410.00			NB
56	3	Hon-HTLD42T.N.N.N Round Laminate top	\$284.38	\$853.14	\$354.76	\$1,064.28		NB	\$357.00	\$1,071.00		NB
57	3	Hon-HTLT120.N Laminate slab base for 120" top	\$271.32	\$813.96	\$295.63	\$886.89		NB	\$350.00			NB
58	3	Hon-HTLT96.N Laminate Slab base for 96" top	\$271.32		\$295.63	\$886.89		NB	\$350.00			NB
59	3	·						NB				NB
	3	Hon-HTLT72.N Laminate Slab base for 72" top	\$248.06	\$744.18	\$270.29	\$810.87			\$331.00	\$993.00		
60	3	Hon-94011 .N Queen Ann Base kit	\$226.85	\$680.55	\$247.17	\$741.51	NB	NB	\$279.00	\$837.00		NB
		Total Items 26-60		\$50,453.28		\$54,489.84		\$0.00		\$61,281.00		\$0.00
		File Cabinets	¢1 400 00	DA 405 14	£1 CO1 77	<b>↑</b> 4 0€ 04	ND	ND	¢1 000 00	<b>₽</b> E 007.00	ND	ND
62	3	Hon-54P 4-drawer flamesafe file, letter	\$1,488.38	\$4,465.14	\$1,621.77	\$4,865.31	NB	NB	\$1,869.00	\$5,607.00		NB
63	3	Hon-52P 2-drawer Flamesafe file, letter	\$952.27	\$2,856.81	\$1,037.62	\$3,112.86		NB	\$1,209.00			NB
64	3	Hon-34P 4-drawer flamesafe lateral file	\$2,148.94	\$6,446.82	\$2,341.52	\$7,024.56		NB	\$2,577.00			NB
65	3	Hon-32P 2-drawer flamesafe lateral file Hon-864L 4-drawer Lateral File w/fixed bottom	\$1,403.52	\$4,210.56	\$1,529.30	\$4,587.90		NB	\$1,694.00	\$5,082.00		NB
66	3	drawer	\$742.15	\$2,226.45	\$769.12	\$2,307.36		NB	\$949.00			NB
67	3	Hon-865L 5-drawer lateral filew/fixed bottom drawer.	\$963.70	\$2,891.10	\$998.72	\$2,996.16		NB	\$1,202.00			NB
68	4	Fire King-4-3822-C 4-drawer lateral file	\$2,932.50	\$11,730.00	\$3,296.81	\$13,187.24		NB	NB	NB	NB	NB
69	4	Fire King-2-3822 C 2-drawer lateral file	\$2,015.00	\$8,060.00	\$2,273.91	\$9,095.64	NB	NB	NB	NB	NB	NB
70	4	Fire King-4-1825-C 4 drawer letter 25" deep	\$1,532.50	\$6,130.00	\$1,788.58	\$7,154.32	NB	NB	NB	NB	NB	NB
71	4	Fire King-2-1825-C-2 drawer letter 25" deep	\$977.50	\$3,910.00	\$1,230.31	\$4,921.24	NB	NB	NB	NB	NB	NB
		Total Items 61-71		\$52,926.88		\$59,252.59		\$0.00	1NOL 8DB	\$28,500.00		\$0.00

		II .										
		Company Name	Plano Off	ice Supply	Busines	ss Interiors	Workplace	Solutions	Lone Star F	urnishing, LLC	Contrax G	roup. LLC
Item#	QTY	Description	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
		Chair										
72	10	Hon-2901 High-back chair, price code III	\$203.59	\$2,035.90	\$221.84	\$2,218.40	NB	NB	\$231.00	\$2,310.00	NB	NB
73	5	Hon-2902 Mid-back chair, price code III	\$194.21	\$971.05	\$211.61	\$1,058.05	NB	NB	\$222.00	\$1,110.00	NB	NB
74	10	Hon-2903 Guest sled base chair price code III	\$157.90	\$1,579.00	\$172.04	\$1,720.40	NB	NB	\$181.00	\$1,810.00	NB	NB
75	2	Hon-2071 High-Back chair, price code III	\$188.50	\$377.00	\$205.39	\$410.78	NB	NB	\$214.00	\$428.00	NB	NB
76	2	Hon-2072 Mid-back chair, price code III	\$179.11	\$358.22	\$205.39	\$410.78	NB	NB	\$205.00	\$410.00	NB	NB
77	4	Hon-2073 Guest leg base, price code III	\$141.98	\$567.92	\$154.71	\$618.84	NB	NB	\$161.00	\$644.00	NB	NB
78	2	Hon-6551 Guest Leg base, price code III	\$203.18	\$406.36	\$221.39	\$442.78	NB	NB	\$231.00	\$462.00	NB	NB
79	20	Hon-H5902 UR10T task chair w/o arms, Price code III	\$96.29	\$1,925.80	\$104.91	\$2,098.20	NB	NB	\$116.00	\$2,320.00	NB	NB
80	3	Hon-HVL521VA10 task chair w/arms, price code III	\$94.66	\$283.98	\$103.14	\$309.42	NB	NB	\$129.00	\$387.00	NB	NB
81	64	Hon-HSSST-18B Task stool, swivel w/ft ring	\$124.44	\$7,964.16	\$135.59	\$8,677.76	NB	NB	\$154.00	\$9,856.00	NB	NB
82	2	Hon-4073 Task Chair w/arm, price code III	\$111.39	\$222.78	\$121.37	\$242.74	NB	NB	\$139.00	\$278.00	NB	NB
83	4	Hon-7705 Task Stool, price code III	\$176.26	\$705.04	\$198.72	\$794.88	NB	NB	\$214.00	\$856.00	NB	NB
		Total Items 72-83		\$17,397.21		\$19,003.03		\$0.00		\$20,871.00		\$0.00
		Total, Extenstion Price for all items		\$168,730.53		\$184,996.02		\$0.00		\$167,752.00		NB
		1NOL-Not overall low. 8DB-Did not bid all items.										
Di		ry deduct the percentage listed below from the nanufacturer's currents catalog price										
HON			YEARS 1-3 59.2%		YEARS 1-3 55.54%- 57.72%				YEARS 1-3 48%		no bid	
			TEATIO 1 5 33.2/6						12,410 1 0 10,5		1.0 010	
Teknior	1		no bid		YEARS 1-3 37.07%-		YEARS 1-3 65%		no bid		no bid	
Fire Kin	g		YEARS	1-3 50%	YEARS 1-3 37.07%- 43.79%				no bid		no bid	
Mity-Lite			no	bid					no bid		no bid	
			Alisteel YEARS 1-3 50%						LSF office-20%/call for additonal discounts on a "per order" basis		See Bid Discount varies	
		urers catalogs for which proposer is prepared to ge discount										
Minimu	m Order		.001 cent		n/o		None		\$500.00		none	
Accepts				es	n/a yes		None yes		\$500.00 yes		none yes	

		Company Name	Troxell Com	munications, Inc		Workplace or 8TC	Texas Fur	niture Souce
Item#	QTY	Description	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
		Hon-10700 Series, Laminate Contemporary						
1	4	Hon-10799 72"Double Pedestal Desk	NB	NB	NB	NB	\$693.66	\$2,774.64
2	4	Hon-10774 66" Double Pedestal Desk	NB	NB	NB	NB	\$668.72	\$2,674.88
3	4	Hon-10787R 72" Right Pedestal Desk	NB	NB	NB	NB	\$597.96	\$2,391.84
4	4	Hon-10701 R 66" Right Pedestal Desk	NB	NB	NB	NB	\$544.38	\$2,177.52
5	4	Hon-10788L 72" Left Pedestal Desk	NB	NB	NB	NB	\$597.96	\$2,391.84
6	4	Hon-10702L 66" Left Pedestal Desk	NB	NB	NB	NB	\$544.38	\$2,177.52
7	4	Hon-10709R 60" Right Return	NB	NB	NB	NB	\$424.95	\$1,699.80
8	4	Hon-10710L 60" Left Return	NB	NB	NB	NB	\$424.95	\$1,699.80
9	4	Hon-10711R 48" Right Return	NB	NB	NB	NB	\$367.69	\$1,470.76
10	4	Hon-10712L 48" Left Return	NB	NB	NB	NB	\$367.69	\$1,470.76
11	4	Hon-107191R 42" Right Return	NB	NB	NB	NB	\$362.78	\$1,451.12
12	4	Hon-107192L 42" Left Return	NB	NB	NB	NB	\$362.78	\$1,451.12
13	4	Hon-10742 72" Credenza W/doors	NB	NB	NB	NB	\$694.07	\$2,776.28
14	4	Hon-10741 72" Credenza w/Kneespace	NB	NB	NB	NB	\$600.41	\$2,401.64
15	4	Hon-10768 66" Credenza w/kneespace	NB	NB	NB	NB	\$562.38	\$2,249.52
16	4	Hon-10707R 72" Credenza Single Pedestal right	NB	NB	NB	NB	\$489.57	\$1,958.28
17	4	Hon-10705R 66" Crendenza single pedestal right	NB	NB	NB	NB	\$480.58	\$1,922.32
18	4	Hon-10708L 72" Credenza single pedestal left	NB	NB	NB	NB	\$489.57	\$1,958.28
19	4	Hon-10706L 66" Credenza single pedestal left	NB	NB	NB	NB	\$480.58	\$1,922.32
20	4	Hon-10762 2-drawer lateral file	NB	NB	NB	NB	\$380.37	\$1,521.48
21	4	Hon-107699 4-drawer lateral file	NB	NB	NB	NB	\$809.41	\$3,237.64
22	4	Hon-10752 2-shelf bookcase	NB	NB	NB	NB	\$203.27	\$813.08
23	4	Hon-10753 3-shelf bookcase	NB	NB	NB	NB	\$250.31	\$1,001.24
24	4	Hon-10754 4-shelf bookcase	NB	NB	NB	NB	\$282.21	\$1,128.84
25	4	Hon-10755 5-shelf bookcase	NB	NB	NB	NB	\$337.02	\$1,348.08
		Total Items 1-25		\$0.00		\$0.00		\$48,070.60
		HON - 94000 Series, Laminate Traditional						
26	3	Hon-94271 72" Double pedestal desk	NB	NB	NB	NB	\$802.46	\$2,407.38
27	3	Hon-94276 66" Double pedestal desk	NB	NB	NB	NB	\$780.78	\$2,342.34
28	3	Hon-94285R 72" Right pedestal desk	NB	NB	NB	NB	\$701.44	\$2,104.32
29	3	Hon-94283R 66" Right pedestal desk	NB	NB	NB	NB	\$659.31	\$1,977.93
30	3	Hon-94286L 72" left pedestal desk	NB	NB	NB	NB	\$701.44	\$2,104.32
31	3	Hon-94284L 66" Left pedestal desk	NB	NB	NB	NB	\$659.31	\$1,977.93
32	3	Hon-94215R 48" Right Return	NB	NB	NB	NB	\$449.49	\$1,348.47
33	3	Hon-94216L 48" Left Return	NB	NB	NB	NB	\$449.49	\$1,348.47
34	3	Hon-94270 48" Bridge	NB	NB	NB	NB	\$263.81	\$791.43
35	3	Hon-94260 42" Bridge	NB	NB	NB	NB	\$239.67	\$719.01
36	3	Hon-94245R 72" Credenza single pedestal right	NB	NB	NB	NB	\$577.92	\$1,733.76
37	3	Hon-94246L 72" Credenza Single pedestal left	NB	NB	NB	NB	\$577.92	\$1,733.76

					OfficMax	Workplace		
		Company Name	Troxell Com	munications, Inc	Interio	r 8TC	Texas Fur	niture Souce
Item#	QTY	Description	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
38	3	Hon-94247R 72" Credenza w/36 lateral right	NB	NB	NB	NB	\$657.26	\$1,971.78
39	3	Hon-94248L 72" Credenza w/36 lateral left	NB	NB	NB	NB	\$657.26	\$1,971.78
40	3	Hon-94244 72" Credenza w/doors & Shelf	NB	NB	NB	NB	\$773.42	\$2,320.26
41	3	Hon-94243 72" Credenza w/Kneespace	NB	NB	NB	NB	\$668.31	\$2,004.93
42	3	Hon-94235 Overhead Hutch for 72" Credenza	NB	NB	NB	NB	\$854.40	\$2,563.20
43	3	Hon-94234 Stack on storage for 72" Credenza	NB	NB	NB	NB	\$482.21	\$1,446.63
44	3	Hon-10738 Back enclosure for stack on	NB	NB	NB	NB	\$79.75	\$239.25
45	3	Hon-90034 Tackboard for back enclosure	NB	NB	NB	NB	\$100.20	\$300.60
46	3	Hon-94223 2-drawer lateral file	NB	NB	NB	NB	\$461.76	\$1,385.28
47	3	Hon-94210 Bookcase Hutch	NB	NB	NB	NB	\$308.79	\$926.37
48	3	Hon-94221 2-shelf bookcase	NB	NB	NB	NB	\$288.34	\$865.02
49	3	Hon-94222 3-Shelf bookcase	NB	NB	NB	NB	\$323.11	\$969.33
50	3	Hon-94224 4-shelf bookcase	NB	NB	NB	NB	\$366.46	\$1,099.38
51	3	Hon-94225 5-shelf bookcase	NB	NB	NB	NB	\$402.05	\$1,206.15
52	3	Hon-HTLC 4812T.N.N.N Rectangular Laminate top	NB	NB	NB	NB	\$893.66	\$2,680.98
53	3	Hon-HTLC 4896T.N.N.N Rectangular Laminate top	NB	NB	NB	NB	\$689.17	\$2,067.51
54	3	Hon-HTLC 3672.N.N.N Rectangular Laminate top	NB	NB	NB	NB	\$358.28	\$1,074.84
55	3	Hon-HTLC 48T.N.N.N Round Laminate top	NB	NB	NB	NB	\$326.38	\$979.14
56	3	Hon-HTLD42T.N.N.N Round Laminate top	NB	NB	NB	NB	\$285.07	\$855.21
57	3	Hon-HTLT120.N Laminate slab base for 120" top	NB	NB	NB	NB	\$271.98	\$815.94
58	3	Hon-HTLT96.N Laminate Slab base for 96" top	NB	NB	NB	NB	\$271.98	\$815.94
59	3	Hon-HTLT72.N Laminate Slab base for 72" top	NB	NB	NB	NB	\$248.67	\$746.01
60	3	Hon-94011 .N Queen Ann Base kit	NB	NB	NB	NB	\$227.46	\$682.38
		Total Items 26-60		\$0.00		\$0.00		\$50,577.03
		File Cabinets						
62	3	Hon-54P 4-drawer flamesafe file, letter	NB	NB	NB	NB	\$1,429.03	\$4,287.09
63	3	Hon-52P 2-drawer Flamesafe file, letter	NB	NB	NB	NB	\$954.61	\$2,863.83
64	3	Hon-34P 4-drawer flamesafe lateral file	NB	NB	NB	NB	\$2,154.20	\$6,462.60
65	3	Hon-32P 2-drawer flamesafe lateral file	NB	NB	NB	NB	\$1,406.96	\$4,220.88
66	3	Hon-864L 4-drawer Lateral File w/fixed bottom drawer	NB	NB	NB	NB	\$707.59	\$2,122.77
67	3		NB	NB	NB	NB	\$918.82	\$2,756.46
68	4	Fire King-4-3822-C 4-drawer lateral file	NB	NB	NB	NB	\$2,808.00	\$11,232.00
69	4	Fire King-2-3822 C 2-drawer lateral file	NB	NB	NB	NB	\$1,895.00	\$7,580.00
70	4	Fire King-4-1825-C 4 drawer letter 25" deep	NB	NB	NB	NB	\$1,441.00	\$5,764.00
71	4	Fire King-2-1825-C-2 drawer letter 25" deep	NB	NB	NB	NB	\$940.23	\$3,760.92
		Total Items 61-71		\$0.00		\$0.00	Ψ040.23	\$51,050.55
		2 V 111 2 V 1 - / 1	l	φυ.00	11	90.00		ψ <del>0 1,000.0</del> 0

		II.						
		Company Name	Troxell Com	munications, Inc		Workplace or 8TC	Texas Fur	niture Souce
Item#	ΩТΥ	Description	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
		Chair						
72	10	Hon-2901 High-back chair, price code III	NB	NB	NB	NB	\$204.09	\$2,040.90
73	5	Hon-2902 Mid-back chair, price code III	NB	NB	NB	NB	\$194.68	\$973.40
74	10	Hon-2903 Guest sled base chair price code III	NB	NB	NB	NB	\$158.28	\$1,582.80
75	2	Hon-2071 High-Back chair, price code III	NB	NB	NB	NB	\$188.96	\$377.92
76	2	Hon-2072 Mid-back chair, price code III	NB	NB	NB	NB	\$179.55	\$359.10
77	4	Hon-2073 Guest leg base, price code III	NB	NB	NB	NB	\$142.33	\$569.32
78	2	Hon-6551 Guest Leg base, price code III	NB	NB	NB	NB	\$203.68	\$407.36
79	20	Hon-H5902 UR10T task chair w/o arms, Price code III	NB	NB	NB	NB	\$96.52	\$1,930.40
80	3	Hon-HVL521VA10 task chair w/arms, price code III	NB	NB	\$111.36	\$334.08	\$90.25	\$270.75
81	64	Hon-HSSST-18B Task stool, swivel w/ft ring	NB	NB	\$146.40	\$9,369.60	\$124.74	\$7,983.36
82	2	Hon-4073 Task Chair w/arm, price code III	NB	NB	\$120.24	\$240.48	\$111.66	\$223.32
83	4	Hon-7705 Task Stool, price code III	NB	NB	\$207.36	\$829.44	\$182.82	\$731.28
		Total Items 72-83		\$0.00		\$10,773.60		\$17,449.91
		Total, Extenstion Price for all items		NB	1NOL	\$10,773.60		\$167,148.09
		1NOL-Not overall low. 8DB-Did not bid all items.						
D		ay deduct the percentage listed below from the nanufacturer's currents catalog price						
HON			no bid				59.1%	-71.9%
Teknio	n		no bid				nc	bid
Fire Ki	ng		r	no bid			50	70%
Mity-Li	Mity-Lite		r	no bid			no	bid
		Anthro-5%, Balt-5%, Bretford-				OFD-51%-61%, Mayline-		
	Other Manufacturers catalogs for which proposer is prepared to		22%				51%,Sa	afco-45%
offer a	percenta	ge discount						
	ım Order			n/a		1.00		1.00
Accept	s EPCNT	•	1	yes	yes		yes	